PC 5641
WASSCE (PC1) 2020
BIOLOGY 1

Objective Test
50 minutes

THE WEST AFRICAN EXAMINATIONS COUNCIL
West African Senior School Certificate Examination (WASSCE)
for Private Candidates, 2020 - First Series

BIOLOGY |
OBIECTIVE TEST
[50 marks)

(PC1) 2020

50 minutes

Da not open this booklet until you are told to do so. While you are waiting, write your name and index number
in the spaces provided at the top right-hand corner of this booklet and thereafier, read the following instructions
carefully.
1. Use HB pencil throughout.
2; If you have got a blank answer sheet, complete its top section as follows.
fa)  Inthe space marked Name, write in capital letters your surname followed by your other names.
(b)  In the spaces marked Examination, Year, Subject and Paper, write “WASSCE (PC1)’, “2020",
‘BIOLOGY” and ‘1’ respectively.
fc)  Inthe box marked Index Number, write your index number vertically in the spaces on the
left-hand side. There are numbered spaces in line with each digit. Shade carefully the space with
the same number as each digit.
(d)  Inthe box marked Paper Code, write the digits 504113 in the spaces on the lefi-hand side. Shade
the corresponding numbered spaces in the same way as for your index number.
(e)  Inthe box marked Sex, shade the space marked M if you are male, or F if you are female.

3. If you have got a pre-printed answer sheet, check that the details are correctly printed, as described in
2 above. In the boxes marked Index Number, Paper Code and Sex, reshade each of the shaded spaces.
4. An example is given below. This is for a male candidate, whose name is Chinedu Oladapo DIKKOQ,

whose index number is 5251102068 and who is offering Biology 1.
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Answer all the questions.

Each guestion is followed by four options lettered A to D. Find the correct option Jfor each question and shade
in pencil on your answer sheet, the answer space which bears the same letter as the option you have chosen.

Give only one answer to each question. An example is given below.

Which part of the gill of fish is involved in gaseous exchan ge?
A.  Gill slits
B. Gill bars
C. Gillcovers
D. Gill filaments
The correct answer is Gill filaments, which is lettered D and therefore answer space D would be shaded.
(A] (B] [C] el
Think carefully before you shade the answer spaces; erase completely any answer(s) you wish to change.

Do all rough work on this quesiion paper.

Now answer the following questions.

1. Which of the following characteristics is that of | 3.  The strand of nucleic acid in structure B is
a plant?

A.  Absence of chlorophyll A. injected into a host cell during feeding.
B. [Immediate response to stimuli B either DNA or RNA.
C. Carbohydrate is stored as glycogen
D. Presence of large vacuoles in cells C. enclosed by the nucleus.
D. combined molecules of DNA and RNA.
The diagrams below are illustrations of biological
structures. Study them and answer questions 2 The infoermation below is a list of features
and’3. ’ -~ possessed by organisms. Use it to answer
protein coat questions 4 to 6.

I - Segmented body
nucleic

material 11 - Coelom
II1 - Seta
IV - Chitin
A 8

2.  Which of the following statements is correct?

. 4. The fi t i
A.  Bneeds A and other living things to exfeaturomat possessed by ATUIROpULSIS

reproduce A. L
B. A and B cannot exist together in a B. IL
parasitic relationship
C. A needs B to function properly in its C. ML
environment D. 1IV.

D. The relationship between A and B is
usually mutual
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10. Lactic acid is produced in the human bedy when
there is

A

B.
C.
D

QIOL30405

lack of exercise.
presence of citric acid.
absence of oxygen.
lack of lipid.

they had used up the water in their body to
release energy.

the water in the body had been used to
strengthen their muscles.

they needed more water to close their
sweat pores.

their body had used up its water to keep
the body cool.















